Appendix A - Spa	rsity Factor Data by School							
								-
Α	В	С	D	E	F	G	Н	1
LAESTAB	School Name	School Type	Sparsity Distance (based on October 2013 data)	Received sparsity in 2014- 15?	Total Number on Roll (October 2013) (Less resource provision places)	Number of year groups for all schools (October 2013 data)	Average pupils per year group (October 2013 data) (column F divided by column G)	Would be eligible based on average year group size (October 2013 data)
Primary Schools						-		1
9093102	All Saints CE School	Primary School	0.68				22.3	
9093125 9092001	Allithwaite CE Primary School Allonby Primary School	Primary School Primary School	1.14	No Yes	92 21	6		Yes Yes
9092004	Alston Primary School	Primary School	4.38	Yes	99	-		Yes
9093658	Ambleside C.E. Primary	Primary School	3.90	Yes	98			Yes
9095206	Appleby Primary School	Primary School	2.94		204	7	29.1	
9092200	Arlecdon School	Primary School	1.20					Yes
9092005	Armathwaite Community School	Primary School	2.84	No		7		Yes
9093061	Asby Endowed School	Primary School	3.57	Yes	21	7		Yes
9092147 9092148	Ashfield Infants` School Ashfield Junior School	Primary School Primary School	0.68	No No	173 201	3	57.7 50.3	
9095207	Askam Village School	Primary School	0.75	No	157	7	22.4	
9092704	Barrow Island Community Primary	Primary School	0.56		159	7	22.7	
9092100	Bassenthwaite Primary School	Primary School	4.05	Yes		7		Yes
9095221	Beaconside CE Primary School	Primary School	0.67	No		7	60.3	
9093500	Beckermet	Primary School	1.61	No		7		Yes
9093662	Beckstone Primary Shcool	Primary School	0.48	No		7	42.0	
9093354 9092622	Beetham C of E School Belle Vue Primary School	Primary School Primary School	1.22	No No		7	6.0 58.0	Yes
9092008	Bewcastle School	Primary School	6.08	Yes	33	7		Yes
9092220	Black Combe School	Primary School	0.67	No	94		23.5	
9093301	Blackford CE Primary School	Primary School	1.90	No				Yes
9092010	Blennerhasset School	Primary School	1.93					Yes
9092301	Bolton School	Primary School	1.86			7		Yes
9093002 9092207	Boltons CE Primary School Bookwell School	Primary School Primary School	2.52	No No	91 206	/	13.0 29.4	Yes
9093401	Borrowdale C of E Primary School	Primary School	5.13	Yes	35	7		Yes
9095212	Bowness on Solway Primary School	Primary School	5.40	Yes	63	7		Yes
9093402	Braithwaite C of E Primary School	Primary School	2.34	No		7		Yes
9095203	Brampton Primary School	Primary School	2.10			7	38.4	
9092228	Bransty Primary School	Primary School	0.55	No	116	7		Yes
9093100	Bridekirk Dovenby School	Primary School	2.17	No		1		Yes
9092502 9092626	Brisbane Park County Infants Brook Street Primary School	Primary School Primary School	0.44	No No	128 216	3	42.7	
9092302	Brough School	Primary School	3.29	Yes	78			Yes
9093132	Broughton in Furness C.E.	Primary School	4.00	Yes	57	7		Yes
9092103	Broughton Moor	Primary School	1.51	No	45			Yes
9092045	Brunswick	Primary School	0.51	No	138		1010	
9092014 9093124	Burgh-by-Sands Burlington School	Primary School Primary School	1.83	No No	56 76			Yes Yes
9093124	Caldew Lea Primary	Primary School	0.40	No		7	37.1	
9093304	Calthwaite CE School	Primary School	2.27	No		7		Yes
9092002	Cambridge Primary School	Primary School	0.39			7		
9093200	Captain Shaw's CE Primary	Primary School	3.01		16	7	2.3	Yes
9093126	Cartmel Primary CE School	Primary School	1.48					Yes
9092320 9092403	Castle Park School Chapel Street Infants and Nursery School	Primary School Primary School	0.71				34.1 44.0	
9092305	Clifton	Primary School	1.51					Yes
9093122	Coniston CE School	Primary School	3.06					Yes
9092413	Croftlands Infant School	Primary School	0.69				36.0	
9092414	Croftlands Junior School	Primary School	0.70				41.5	
9093356	Crosby Ravensworth CE School	Primary School	3.53					Yes
9093103	Crosscanonby St John's CE School	Primary School	1.54					Yes
9093357 9093358	Crosscrake C of E School Crosthwaite	Primary School Primary School	1.25					Yes Yes
9093305	Culgaith C.of E. School	Primary School	2.27					Yes
9092019	Cummersdale School	Primary School	0.99					Yes
9092020	Cumwhinton	Primary School	1.97	No	170	7	24.3	-

LAESTAB	School Name	School Type	Sparsity Distance (based on October 2013 data)	Received sparsity in 2014- 15?	Total Number on Roll (October 2013) (Less resource provision places)	Number of year groups for all schools (October 2013 data)	Average pupils per year group (October 2013 data) (column F divided by column G)	Would be eligible based on average year group size (October 2013 data)
9095210	Dalton St. Mary's C.E. Primary	Primary School	0.67	No	187		26.7	
9092521	Dane Ghyll School	Primary School	0.65		195		27.9	
9093452 9093405	Dean Barwick Dean CE School	Primary School	4.20		32 101			Yes Yes
9093405	Dean Gibson Catholic Primary	Primary School Primary School	0.28		183		26.1	
9093381	Dent C of E Primary Shool	Primary School	4.22	Yes	37			Yes
9092707	Derwent Vale Primary & Nursery	Primary School	1.60		98			Yes
9092718	Distington Community School	Primary School	1.70	No	96	7	13.7	Yes
9092124	Ellenborough and Ewanrigg Infant	Primary School	0.33		48			Yes
9093204	Ennerdale & Kinniside School	Primary School	2.02		46			Yes
9092126 9092107	Ewanrigg Junior School Fairfield Primary School	Primary School	0.34	No No	165 361		41.3 51.6	
9092706	Fellview Primary	Primary School Primary School	4.48		58			- Yes
9095218	Fir Ends	Primary School	2.93		106			Yes
9095219	Flimby School	Primary School	1.53		117			Yes
9095208	Flookburgh CE Primary School	Primary School	1.55	No	72	7	10.3	Yes
9092211	Frizington Community Primary	Primary School	0.37		103			Yes
9092701	George Romney	Primary School	0.37		145			
9092322	Goodly Dale Primary School	Primary School	0.81	No	71			Yes
9093206 9093123	Gosforth CE Primary Grange CE School	Primary School Primary School	2.30		87 118			Yes Yes
9093360	Grasmere CE School	Primary School	3.20		61			Yes
9092117	Grasslot Infants School	Primary School	0.38		66			
9093361	Grayrigg CE Primary School	Primary School	7.60		23			Yes
9092027	Great Orton Primary School	Primary School	1.72	No	54			Yes
9092508	Greengate Infants School	Primary School	0.25		121		1010	
9092509	Greengate Junior School	Primary School	0.31	No	206		51.5	
9092028	Greystoke School	Primary School	2.06		38			Yes
9095215 9092212	Hallbankgate Village School Haverigg Primary	Primary School Primary School	3.19		33 152		4.7	Yes
9092212	Hawkshead Esthwaite	Primary School	2.95		63			- Yes
9095200	Hayton CE Primary School	Primary School	1.99		146			Yes
9092722	Hensingham Primary School	Primary School	0.49		156		22.3	
9092321	Heron Hill Primary School	Primary School	0.67	No	402		57.4	
9095214	Heversham St Peters CE	Primary School	1.35		49			Yes
9093013	High Hesket C of E School	Primary School	2.16		115			Yes
9093014 9092308	Holm Cultram Abbey CE School Holme School	Primary School Primary School	3.85		39 93			Yes Yes
9092032	Holme St Cuthbert School	Primary School	3.80	Yes	59			Yes
9093607	Holy Family Catholic Primary School	Primary School	0.34		205		29.3	
9093015	Houghton CE School	Primary School	1.33		137			Yes
9092607	Inglewood Infant School	Primary School	0.41	No	259	3	86.3	-
9092606	Inglewood Junior School	Primary School	0.41	No	285			
9093017	Ireby Church of England School	Primary School	3.24	Yes	43			Yes
9095213	Ireleth St Peter's CE School Irthington School	Primary School	0.49		46 56			Yes Yes
9092033 9093309	Ivegill CE School	Primary School Primary School	2.25	No	77			Yes
9092237	Jericho Primary School	Primary School	0.43		373		53.3	
9092230	Kells Infant School	Primary School	0.32					
9092623	Kingmoor Junior School	Primary School	0.83				61.0	
9092625	Kingmoor Nursery and Infant School	Primary School	0.84	No	218			
9093018	Kirkbampton School	Primary School	1.93		101			Yes
9092035	Kirkbride School	Primary School	3.38		58			Yes
9092310	Kirkby Stephen Primary School	Primary School	3.52		164		23.4	
9092311 9093019	Kirkby Thore Kirkoswald Cof E School	Primary School Primary School	1.64		56 83			Yes Yes
9093207	Lamplugh CE School	Primary School	1.45		36			Yes
9093020	Lanercost CE Primary	Primary School	2.07		55			Yes
9093362	Langdale CE School	Primary School	3.20		46			Yes
9093021	Langwathby CE School	Primary School	3.46	Yes	137		19.6	Yes
9093310	Lazonby CE School	Primary School	1.60					Yes
9093023	LeesHill C of E Primary School	Primary School	2.71					Yes
9093550	Leven Valley CE School	Primary School	3.70					Yes
9093054	Levens CE School	Primary School	1.53	No	64	1	9.1	Yes

0000041 Lindi and Martin Primery School Financy School 11.0 No. 82 7 11.1 Yes 000013 Long Martin Primery School 1.0 No. 1.0 No.<	LAESTAB	School Name	School Type	Sparsity Distance (based on October 2013 data)	Received sparsity in 2014- 15?	Total Number on Roll (October 2013) (Less resource provision places)	Number of year groups for all schools (October 2013 data)	Average pupils per year group (October 2013 data) (column F divided by column G)	Would be eligible based on average year group size (October 2013 data)
Biological Driving School Printing School<	9092404	Lindal and Marton Primary School	Primary School						
Display Longtourn Primary Primary School Primary School State									
DBSC:23 Lotin School Primary School 3.43 Yes 66 7 6.4 Yes DBSC12 Lardin School Primary School 0.217 No 30 120 7 Yes DBSS12 Lardine School Primary School 0.217 No 30 121 Yes DBSS12 Mayport CE Junio School Primary School 0.56 No 66 3 2.27 Yes DBSS12 Mayport Infant Primary School 0.56 No 66 3 2.27 Yes DBSS12 Maryort Infant Primary School 0.42 No 153 2.21 Yes DBSS215 Miletope Primary School 0.13 No 153 No 2.13 Yes 2.13 Yes 10.3 Yes 10.3 Yes 10.3 Yes 10.4 Yes 10							7		
D032212 Low Furnars GE Primary School Primary School Primary School D032 D132							7		
DSBMS Lower Endowed Printing School 2.17 No 90 7 12.8 Yes DSB112 Margont CE, Lurin's School Printing School 0.60 No 0.7 3 2.1 Yes DSB213 Margont CE, Lurin's School Printing School 0.20 No 0 2.5 2.7 Yes DS2213 Mathering School Printing School 0.47 No 0.6 0.6 0.6 0.6 0.6 0.6 0.7 2.1 Yes DS2214 Mathering Jerne School Printing School 1.3 No 163 7 1.0 Yes DS2222 More Kwes School Printing School 1.3 No 70 1.0 Yes DS2223 More Kwes School Printing School 3.31 No 71 1.0 Yes DS2224 More Kwes School Printing School 3.31 No 71 1.0 Yes DS2240 More Kwes School Printing School							7		
9839112 Mangpot Infam Primary School 0.66 No 127 4 31.8 052125 Mappot Infam Primary School 2.04 No 66 3 2.27 Free 052215 Mainer School Primary School 2.04 No 67 2.17 Free 052216 Mainer School Primary School 2.04 No 68 4 2.23 Free 0522216 Marchay Tring School Primary School 0.42 No 68 4 2.23 Free 1.13 No 7 1.10 No 7 1.00 No 7 1.00 No 1.10 No 1.10 No 1.10 No 1.10 <				0.92	No	35			
State Name Name State No 68 3 22.7 002314 Millom State Primary School 0.3 No 7 5 1,4 Yea 002214 Millom State Primary School 0.4 No 62 3 20.7 002211 Millom State Primary School 0.44 No 63 20.3 1.6 20.3 1.6 20.3 1.6 20.3 1.6 20.3 1.6 20.3 1.6 20.3 1.6 <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>7</td> <td></td> <td></td>							7		
9822314 Milloin School Pinnary School 2.20 No 7 5 1.4 [Yes 982213 Milohin Infort School Pinnary School 1.47 No 62 3 2.17 [Yes] 982213 Milohin Infort School Pinnary School 1.42 No 1.53 7 1.21 [Yes] 982214 Milohin Infort School Pinnary School 1.43 No 73 7 1.04 [Yes] 982222 Moor Row School Pinnary School 1.18 No 73 7 1.04 [Yes] 982227 Moor Row School Pinnary School 3.40 Yes 70 7 1.04 [Yes] 902227 Moor Row School Pinnary School 3.31 Yes 71 3 5.20 902272 Newlants Infrance School Pinnary School 0.45 No 71 3 5.20 9022712 Newlants Infrance School Pinnary School 0.42 No 71 3 5.20 9022712 Newlants Infrance School<							4		
Bilden Infant School Primary School 0.47 No 6.2 S 20.7 Vest 0022116 Michinger Enrorg School Primary School 0.43 No 153 7 21.9 002213 Michinger School Primary School 0.43 No 153 7 11.9 002221 Michinger School Primary School 0.43 No 73 7 10.4 Yes 002222 Morekay Primary School Primary School 3.01 Yes 7 10.0 Yes 002222 Morekay Primary School 0.31 No 73 7 10.0 Yes 002317 Netwahare Primary School 0.33 No 415 7 53.5 002322 Netwahare Primary School 0.42 No 23.1 63.0 Yes 0023216 Netwahare Primary School 0.42 No 23.1 63.0 Yes 0023200 Netwahare Primary School 0.35 No 43.1 7						68	3		
S02215 Milethope Primary School Primary School 1.34 No 153 7 21.6 S02211 Mockawary Junit School Primary School 0.32 No 63 6 7.3 7 1.0 View S02217 Mockawary Junit School Primary School 0.31 No 77 7 1.0 View S02204 Noreshy Primary School 3.40 Yes 71 0.3 View S022040 Noreshy Primary School 3.37 Yes 21 0 3.5 Yes 1.0 View 20 Yes 21 0 3.5 Yes 21 Xes Xes Yes 21						1	5		
Status Primary School 0.42 No 93 4 23.3 0502716 Morteal CE Frinary School 7.63 No 138 7 11.1 Yes 0502720 Morteal CE Frinary School 7.63 No 138 7 11.3 Yes 0502200 Norteal CE Frinary School 3.40 Yes 70 7 10.01 Yes 0502300 Nedherton Infert School Primary School 3.31 No 71 3 2.37 . 0502400 Needeams Frinary School 0.33 No 415 7 69.3 . 0502171 Needeams Frinary School 0.31 No 415 7 69.3 . 0502100 Needeams Frinary School Primary School 0.41 No 73 6.93 . 050200 Norma Street Primary School Primary School 0.37 No 98 7 14.1 Yes 0502260 Norma Street Primary School Primary School							7		
S022716 Montrail CE Prinary School Pr							4		
Bios Prinnary School Prinary School Prinnary School							7		
998388 Mortand Prinnary School 3.40 Yes To T 10.0 Yes 998240 Nenthed School Prinnary School 3.87 Yes 21 6 3.8 Yes 9982127 Nehthon Infant School Prinnary School 0.33 No 71 3 2.3 Yes 9982127 Newton's Finnary School 0.33 No 71 3 2.3 Yes 9982406 Newton's School Prinary School 0.22 No 23 6 65.3 9982406 Newton School Prinary School 0.37 No 99 7 1.4.1 Yes 9082406 Normar Street Prinary School 0.37 No 99 7 1.4.1 Yes 9082406 Normar Street Prinary School 0.77 No 99 7 1.4.1 Yes 9082408 Newton School Prinary School 0.77 No 1.97 1.0 Yes 9082409 North Lakes School Prinary School 0.77 No 1.6									
90922040 Netherton finders School 9.87 Yes 21 6 3.5 Yes 9092172 Netherton finders School 0.31 No 415 7 6.3.2 9092712 Neukainse Primary School 0.63 No 415 7 6.3.2 9092702 Neukainse Trining School 0.66 No 415 7 6.3.2 9092608 Neukainse School Primary School 0.44 No 45 7 6.4.7 9092608 Neutom School Primary School 0.37 No 99 7 1.4.1 Yes 9092608 North Lakes School Primary School 0.46 No 98 7 1.4.0 Yes 9092608 North Wainey Primary School 0.53 No 916 7 8.1 Yes 9092608 North Mainey Primary School 0.53 No 1.64 7 8.3 Yes 9092708 North Mainey Primary School 0.53 No 1.64 7 8.5 Yes 9092714	9092223	Moresby Primary School	Primary School	1.13	No	73	7	10.4	Yes
9092127 Nethoms Infant School Primary School 0.31 No 71 3 23.7 9092712 Newdams Primary School 0.63 No 177 3 59.0 9092712 Newdams School Primary School 0.65 No 177 3 59.0 9092620 Newdams School Primary School 0.62 No 23.3 4 59.3 9092608 Newdams School Primary School 0.65 No 43.6 7 40.6 9092609 North Maley Primary School 0.47 No 49.7 40.0 9092708 North Waley Primary School 0.46 No 98.7 7 10.1 Ves 9092708 North Waley Primary School 0.33 No 7 10.6 Ves 9092714 Orgel Primary School 0.33 No 164 7 23.4 10.6 Ves 10.6 Ves 10.6 10.6 Ves 10.6 10.6 10.6 10.6									
9992712 Newbare Primary School Primary School 0.33 No 415 7 59.3 9926200 Newlathes funds School Primary School 0.62 No 223 4 68.3 9926200 Newlord School Primary School 0.62 No 223 4 68.3 9926200 Newton School Primary School 0.37 No 99 7 14.1 Yes 9926206 Newton School Primary School 0.37 No 99 7 14.1 Yes 9926208 North Lives School D.7 No 158 7 14.0 992613 North Lives School D.7 No 158 7 16.1 98 992614 Orgil Primary School D.75 No 158 7 16.1 98 992614 Orgil Primary School D.33 No 77 7 3.5 Ves 992614 Orgil Primary School D.33 No 27							6		
9092620 Newlathes Intanis School Primary School 0.65 No 177 3 69.0 - 9092616 Newlathes Junior School Primary School 0.62 No 233 4 58.3 9092616 Newtown School Primary School 0.37 No 390 7 14.1 Yes 9092606 Norman Street Primary School 0.37 No 390 7 45.0 9092608 Norman Street Primary School Primary School 0.46 No 168 7 45.0 9092708 North Walang Vernary Primary School 0.46 No 168 7 16.0 Yes 9092716 Ornegil Primary School 0.37 No 116 7 8.1 Yes 9092714 Ornegil Primary School 0.37 No 116 7 8.0 Yes 9092714 Ornegil Avernary School 0.37 No 116 7 8.0 Yes 9092713 Orne Avernary Schoo							3		
9092818 Newton School Primary School 0.62 No 233 4 56.3 9092406 Newton School Primary School 0.44 No 46 7 6.44 Yes 9092406 Newton School Primary School 0.37 No 99 7 14.1 Yes 9092606 Norman Street Primary School 0.67 No 159 4 348 9092607 North Wankey Primary School 0.67 No 159 4 348 9092716 North Wankey Primary School 0.67 No 169 4 348 9092714 Origil Primary School 0.38 No 164 7 2.24 - 9092715 Origil Primary School 0.37 No 116 7 16.6 Yes 9092517 Orins CP Primary School 0.37 No 116 7 3.9 Yes 9092510 Our Lady of the Rosary Catholic Primary School 0.37 No 117 4.4 Yes 9093511 <							/		
9092406 Newton School Primary School 1.44 No 45 7 6.4 Yes 9092608 Norman Street Primary School 0.37 No 99 7 14.1 (Yes 9092608 Norman Street Primary School 0.67 No 159 4 39.8 9092708 North Lake School Primary School 0.53 No 98 7 14.0 (Yes 9092708 Northside Primary School 0.54 No 98 7 14.0 (Yes 9092708 Northside Primary School 0.53 No 57 7 8.1 (Yes 9092708 Northside Primary School 0.33 No 74 7 10.8 (Yes 9092704 Organ CE Brimary School Primary School 0.33 No 277 7 3.9 (Yes 9093512 Organ GE Brimary School Primary School 0.33 No 277 7 3.9 (Yes 9093521 Organ School Primary School 0.32 No 279 7 <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td>•</td><td></td><td></td></td<>							•		
Degezons Newtown School Primary School 0.37 No 98 7 14.1 Yes 9092609 Norman Street Primary School 0.37 No 343 7 49.0 9092609 North Lakes School Primary School 0.67 No 159 4 39.8 9092708 North Waley Primary School 0.67 No 74 7 8.1 Yes 9092606 Och Hutton C 6F School Primary School 0.53 No 74 7 16.1 Yes 9092614 Orngill Primary School Primary School 0.38 No 164 7 23.4 9092714 Orngill Primary School Primary School 0.38 No 164 7 23.4 9092617 Orno CE Himary School Primary School 0.38 No 21 7 3.9 Yes 9092617 Orno Let Himary School Primary School 0.33 No 21 7 23.6 Yes 9092624 Oughtestide Frinary School									
Soge209 Norma Street Primary School Primary School 0.35 No 343 7 49.0 9092046 North Lakes School Primary School 0.67 No 159 4 39.8 9092046 Northisde Primary School 0.53 No 67 7 8.1 Yes 9092046 Old Huton C of E School Primary School 0.38 No 164 7 23.4 9092046 Old Huton C of E School Primary School 0.38 No 164 7 23.4 90920471 Origij Primary School 0.38 No 164 7 23.4 9092047 Origij Nursey and Primary School 2.48 No 56 7 80 Yes 9093216 Our Lady and St Paind's Maryport Primary School 2.9 No 7 12.1 Yes 9093332 Patendal CE Primary School Primary School 2.9 No 250 7 37.0 - 9093332 Patendal CLE P									
9092046 North Lakes School Primary School 0.67 No 159 4 938. ¹ 9092708 North Walney Primary School 0.46 No 98 7 14.07 Ves 9093066 Old Huttor Of E School Primary School 0.53 No 57 7 8.1 Ves 9093076 Old Huttor Of E School Primary School 0.38 No 164 7 23.4 9092714 Orgil Primary School Primary School 0.37 No 116 7 66.6 7 8.0 Ves 9092715 Othor CE Primary School Primary School 1.38 No 2.7 7 3.9 Ves 903540 Our Lady of the Roasy Caholace Primary School 0.33 No 179 7 2.6 Ves 9035410 Our Lady of the Roasy Caholace Primary School 0.64 No 2.9 7 3.9 Ves 903551 Penningtor Church of England School Primary School 0.64 No 2.9 7 7.4 O 7 2.4 Ves </td <td></td> <td></td> <td>,</td> <td></td> <td></td> <td></td> <td>7</td> <td></td> <td></td>			,				7		
9092708 North Walney Primary School Primary School 0.46 No 98 7 14.0 (Yes 9092136 Northside Primary School 0.53 No 77 7 10.6 (Yes 9092074 Orgill Primary School Primary School 0.38 No 74 7 10.6 (Yes 9092714 Orgill Primary School Primary School 0.37 No 116 7 16.8 (Yes 9095271 Ortical Er Primary School Primary School 0.37 No 116 7 16.8 (Yes 9095271 Ortical Er Primary School Primary School 0.33 No 27 7 3.9 (Yes 9095372 Patterdiac C Primary School Primary School 0.29 No 85 7 12.1 (Yes 9095372 Patterdiac C Primary School Primary School 0.54 No 256 7 3.70 - 9095273 Pennington Chuch of England School Primary School 0.44 No 256 7 3.70 -							4		
0093066 Old Hutton C of E School Primary School 2.50 No 74 7 1.06 [Ves 0992714 Orgil Primary School Primary School 0.38 No 116 7 1.65 [Ves 0995271 Ormsoll Nursery and Primary School Primary School 0.37 No 116 7 1.60 [Ves 0995212 Outplant and St Partick Maryport Primary School 1.93 No 2.77 7 3.9 [Ves 0993410 Out Lady and St Partick Maryport Primary School 0.29 No 85 7 12.1 [Ves 0993512 Particatel CE Primary School Primary School 0.64 No 259 7 3.70 0993522 Parnine Way Primary School Primary School 0.42 No 260 7 2.94 0993528 Parning Way Primary School Primary School 0.42 No 200 7 3.0 09935124 Parning Kabool Primary School 0.42 No 70 1.00 [Ves 2.94							7		
Orgall Primary School Primary School Primary School 0.38 No 164 7 23.4 9092715 Orno CE Primary School Primary School 0.37 No 116 7 16.6 Yes 9095226 Outpotteride Foundation School Primary School 0.33 No 27 7 3.9 Yes 9093551 Our Lady and SI Patrick's Maryport Primary School 0.33 No 177 25.6 - 9093551 Our Lady and SI Patrick's Maryport Primary School 0.29 No 85 7 12.1 Yes 9093552 Patterdale CE Primary School Primary School 0.32 No 255 7 3.0 - 9092713 Pennington Church of England School Primary School 0.32 No 70 7 10.0 Yes 9093128 Pennington Church of England School Primary School 2.37 No 70 7 10.0 Yes 9092510 Petteril Bank School Of School <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>									
Generation Orinsgill Nursery and Primary School Primary School 0.37 No 116 7 16.6 [Ves 9095217 Orino CE Primary School Primary School 2.48 No 56 7 0.9 (Ves) 9095210 Our Lady and St Patrick's Marport Primary School 0.23 No 179 7 2.56 [- 9093370 Patredale CE Primary School Primary School 0.29 No 85 7 1.2.1 [Ves 9093371 Patredale CE Primary School Primary School 0.64 No 250 7 3.7.0 9093128 Pennine May Primary School 0.64 No 250 7 3.7.0 90932713 Pennine Church of Englid School Primary School 0.64 No 266 7 2.4.4 90932714 Pennine May Primary School 0.65 No 70 7 1.0.0 [Ves 9092610 Primary School 2.63 No 73 7 1.0.0 [Ves 9093262 Pennuddock Pinary School							7		
0995217 Otton CE Primary School Primary School 2.48 No 56 7 8.0 Yes 0995226 Oughterside Foundation School Primary School 0.33 No 17 7 3.9 Yes 0993551 Our Lady and St Patricks Marport Primary School 0.23 No 179 7 2.6 F 0993551 Our Lady of the Rosary Catholic Primary School 0.29 No 85 7 12.1 Yes 90932713 Pennine Way Primary School Primary School 0.54 No 2.59 7 37.0 + 9093212 Pentening Indin School Primary School 0.52 No 2.66 7 2.94 9093212 Penning Inchurch of England School Primary School 0.45 No 70 7 10.0 Yes 9093214 Plumbland C of E School Primary School 0.45 No 73 7 10.4 Yes 9093214 Plumption School Primary School 2.51 No 73 7 10.4 Yes							7		
0995226 Oughterside Foundation School Primary School 1.93 No 27 7 3.9 Yes 0903410 Our Lady of the Rosary Catholic Primary School Primary School 0.23 No 179 7 2.5.6 0903571 Our Lady of the Rosary Catholic Primary School Primary School 0.29 No 85 7 12.1 Yes 9093372 Patterdale CE Primary School Primary School 0.54 No 259 7 3.7.0 9093128 Pennington Church of England School Primary School 0.45 No 129 7 18.4 Yes 9095251 Pentruiddock Primary School Primary School 2.21 No 56 7 8.0 Yes 9092514 Plumpton School Primary School 2.53 No 73 7 10.4 Yes 9092512 Ramsden Infants Primary School 2.53 No 73 7 10.4 Yes 9092512 Ramsden Infants Primary School 2.54 No 28 7 4.0 Yes<							7		
Operator Our Lady and St Patrick's Maryport Primary School 0.33 No 179 7 25.6 0993351 Our Lady of the Rosary Catholic Primary School 0.29 No 85 7 12.1 (Yes 0993271 Patterdale CE Primary School Primary School 0.54 No 259 7 37.0 [- 9093213 Pennington Church of England School Primary School 0.54 No 206 7 29.4 [- 9093225 Penrudbock Primary School 0.45 No 70 7 10.6 (Yes 9093254 Penrudbock Primary School 0.45 No 729 7 18.4 (Yes 9093254 Penrudbock Primary School 2.21 No 56 7 8.0 (Yes 9093254 Plumbind C of E School Primary School 2.23 No 73 7 10.4 (Yes 9093252 Ramsden Infants Primary School 2.38 No 112 3 37.3 [- 9093207 Roboert Ferguson School Primary School <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>									
0903551 Our Lady of the Rosary Catholic Primary School Primary School 0.29 No 85 7 12.1 [Yes 0903372 Patterdial CE Primary School Primary School 0.54 No 259 7 37.0 [- 9035128 Pennington Church of England School Primary School 0.52 No 206 7 2.9 [- 9035225 Perruddock Primary School Primary School 2.97 No 70 7 10.0 [Yes 9095214 Pletmil Bark School Primary School 2.41 No 75 10.0 [Yes 9092512 Pertuddock Primary School 2.21 No 70 7 10.0 [Yes 9092514 Plumpton School Primary School 2.53 No 73 7 10.4 [Yes 9093030 RaughtonHead Primary School 2.44 No 2.8 7 4.0 [Yes 9093042 Rawsennedale School Primary School 1.52 No 179 7 25.6 [- 90932710 Robert Fer									
Dega372 Patterdale CE Primary School							7		
9093128 Pennington Church of England School Primary School 0.92 No 206 7 29.4 9095225 Penriudock Primary School Primary School 2.97 No 70 7 10.0 Yes 9095215 Penriudock Primary School 2.21 No 56 7 8.0 Yes 9092054 Plumption School Primary School 2.21 No 56 7 8.0 Yes 9092054 Plumption School Primary School 2.53 No 71 10.4 Yes 9092054 Plumption School Primary School 0.38 No 112 3 37.3 9092051 Ramsden Infants Primary School 2.44 No 28 7 4.0 Yes 9093030 Raughton-Head Primary School 1.52 No 179 2.66 - 3.7 Yes 9092071 Robert Ferguson School Primary School 1.52 No 1312 7 4.4.6	9093372			6.08	Yes	31	7	4.4	Yes
9095225 Penruddock Primary School 2.97 No 70 7 10.0 Yes 9092610 Petteril Bank School Primary School 0.45 No 129 7 18.4 Yes 9093114 Plumbland C of E School Primary School 2.21 No 56 7 8.0 Yes 9092054 Plumpton School Primary School 2.53 No 73 7 10.4 Yes 90920512 Ramsden Infants Primary School 0.38 No 112 3 3.3 - 9093030 RaughtonHead Primary School 2.44 No 28 7 4.0 Yes 9093062 Ravenstonedale School Primary School 1.52 No 179 7 2.6 9093011 Richmond Hill Primary School 0.53 No 312 7 44.6 9092511 Rose School Primary School 0.78 No 108 7 2.9.1 9093612 Sacred Heart Catholic Primary School 0.7	9092713	Pennine Way Primary School	Primary School	0.54	No	259	7	37.0) -
9002610 Petteril Bank School Primary School 0.45 No 129 7 18.4 Yes 9003114 Plumbland C of E School Primary School 2.21 No 56 7 8.0 Yes 9002054 Plumpton School Primary School 2.53 No 73 7 10.4 Yes 900305 RaughtonHead Primary School 0.38 No 112 3 37.3 - 903030 RaughtonHead Primary School 2.44 No 28 7 4.0 Yes 9030201 Richmond Hill Primary School 4.56 Yes 26 7 3.7 Yes 9092011 Richmond Hill Primary School 0.53 No 312 7 44.6 - 9092011 Robert Ferguson School Primary School 0.79 No 108 7 15.4 Yes 9092316 Roskej CE School Primary School 0.79 No 108 7 22.1 - 9093302 Saerad Heart Catholic Primary School							7		
9093114 Plumbland C of E School Primary School 2.21 No 56 7 8.0 Yes 9092054 Plumpton School Primary School 2.53 No 73 7 10.4 Yes 9092512 Ramsden Infants Primary School 0.38 No 112 3 3.7.3 9093062 Ravenstonedale School Primary School 2.44 No 28 7 4.0 Yes 9093062 Ravenstonedale School Primary School 4.56 Yes 26 7 3.7 Yes 9092071 Richmond Hill Primary School 1.52 No 179 7 25.6 - 9092071 Robert Ferguson School Primary School 0.53 No 312 7 44.6 - 9092051 Rosse School Primary School 0.78 No 155 7 22.1 - 9093031 Rockcliffe Primary School 0.24 No 155 7 2.8.3 - 9									
9092054 Plumpton School Primary School 2.53 No 73 7 10.4 Yes 9092512 Ramsden Infants Primary School 0.38 No 112 3 37.3 9093030 RaughtonHead Primary School 2.44 No 28 7 4.0 Yes 9093030 RaughtonHead Primary School 4.56 Yes 26 7 3.7 Yes 9092071 Richmond Hill Primary School 1.52 No 179 7 25.6 90920710 Robert Ferguson School Primary School 0.53 No 312 7 44.6 9093211 Roose School Primary School 0.79 No 108 7 15.4 9093261 Roose School Primary School 0.79 No 155 7 22.1 9093362 Sacred Heart Catholic Primary School 0.24 No 198 7 28.3 - 9093201 Scotby Primary School 1.00	9092610							-	
9092512 Ramsden Infants Primary School 0.38 No 112 3 37.3 9093030 RaughtonHead Primary School 2.44 No 28 7 4.0 Yes 9093030 RaughtonHead Primary School 2.44 No 28 7 4.0 Yes 9093050 Ravenstonedale School Primary School 4.56 Yes 26 7 3.7 Yes 9092071 Richmond Hill Primary School 1.52 No 179 7 25.6 9092071 Robert Ferguson School Primary School 0.53 No 312 7 44.6 9092511 Rose School Primary School 0.79 No 155 7 22.1 9093030 Rosley CE School Primary School 0.24 No 198 7 28.3 9093201 Scotby Primary School 1.00 No 280 7 40.0 9093216 Scotby Primary School 2.39 No<									
909300 RaughtonHead Primary School 2.44 No 28 7 4.0 Yes 9093062 Ravenstonedale School Primary School 4.56 Yes 26 7 3.7 Yes 9092071 Richmond Hill Primary School 1.52 No 179 7 25.6 - 9092071 Robert Ferguson School Primary School 0.53 No 312 7 44.6 - 9092051 Rookelffer Primary School 0.78 No 108 7 22.1 - 9093210 Rose School Primary School 0.79 No 155 7 22.1 - 9093210 Roose School Primary School 0.24 No 198 7 40.0 - 9093502 Sacred Heart Catholic Primary School 1.00 No 280 7 40.0 - 9095201 Scotby Primary School 1.00 No 280 7 48.3 - 9093210 Scotby Primary School 1.24 No								-	
9093062 Ravenstonedale School Primary School 4.56 Yes 26 7 3.7 Yes 9092071 Richmond Hill Primary School 1.52 No 179 7 25.6 - 90920710 Robert Ferguson School Primary School 0.53 No 312 7 44.6 - 909301 Rockcliffe Primary School 0.79 No 108 7 15.4 Yes 9092511 Roses School Primary School 0.79 No 155 7 22.1 - 909302 Sacred Heart Catholic Primary School Primary School 0.24 No 198 7 28.3 - 9095201 Scotby Primary School 0.24 No 198 7 40.0<-							7		
9092071 Richmond Hill Primary School 1.52 No 179 7 25.6 9092710 Robert Ferguson School Primary School 0.53 No 312 7 44.6 9093031 Rockcliffe Primary School 1.78 No 108 7 25.6 9093031 Rockcliffe Primary School 1.78 No 108 7 21.4 9093211 Roses School Primary School 0.79 No 155 7 22.1 9093316 Rosley CE School Primary School 0.24 No 198 7 28.3 9095201 Scotby Primary School 0.24 No 198 7 43.9 9093216 Seatore Heart Catholic Primary School 2.39 No 128 7 18.3 Yes 9093216 Seatore CE Junior School Primary School 2.39 No 218 7 18.3 Yes 9093373 Selside Endowed CE School Primary Schoo							7		
9093031 Rockcliffe Primary School 1.78 No 108 7 15.4 Yes 9092511 Roose School Primary School 0.79 No 155 7 22.1 - 9093031 Rosley CE School Primary School 1.98 No 55 7 7.9 Yes 9093002 Sacred Heart Catholic Primary School 0.24 No 198 7 28.3 - 9095201 Scotby Primary School 1.00 No 280 7 40.0 - 9092224 Seascale Primary School Primary School 2.39 No 128 7 18.3 Yes 9093216 Seaton CE Junior School Primary School 1.24 No 211 4 52.8 - 90932700 Sedbergh Primary School 7.60 Yes 68 7 9.7 Yes 9093373 Selside Endowed CE School Primary School 4.04 Yes 23 7 3.3 Yes 9093374 Shap Endowed CE School Primary School 3.75									
9092511 Roose School Primary School 0.79 No 155 7 22.1 9093316 Rosley CE School Primary School 1.98 No 55 7 7.9 Yes 9093602 Sacred Heart Catholic Primary School Primary School 0.24 No 198 7 28.3 - 9095201 Scotby Primary School 0.24 No 198 7 40.0 - 9095204 Seascale Primary School 1.00 No 280 7 40.0 - 9092224 Seascale Primary School 2.39 No 128 7 18.3 Yes 9093116 Seaton CE Junior School Primary School 1.24 No 211 4 52.8 - 9093703 Selside Endowed C E School Primary School 4.24 Yes 146 7 20.9 Yes 9093032 Shankhill C of E Primary School Primary School 7.60 Yes 68 7 4.0		Robert Ferguson School	Primary School			-			
9093316 Rosley CE School Primary School 1.98 No 55 7 7.9 Yes 9093602 Sacred Heart Catholic Primary School Primary School 0.24 No 198 7 28.3 - 9095201 Scotby Primary School 1.00 No 280 7 40.0 - 909224 Seascale Primary School 1.00 No 280 7 40.0 - 9093116 Seaton CE Junior School Primary School 2.39 No 128 7 18.3 Yes 9093116 Seaton CE Junior School Primary School 1.24 No 211 4 52.8 - 9093700 Sedbergh Primary School 4.24 Yes 146 7 20.9 Yes 9093032 Shankhill C of E Primary School Primary School 7.60 Yes 68 7 9.7 Yes 909374 Shap Endowed CE School Primary School 3.75 Yes 98 7									
9093602 Sacred Heart Catholic Primary School Primary School 0.24 No 198 7 28.3 - 9095201 Scotby Primary School 1.00 No 280 7 40.0 - 9092224 Seascale Primary School Primary School 2.39 No 128 7 18.3 Yes 9093116 Seaton CE Junior School Primary School 1.24 No 211 4 52.8 - 9093700 Sedbergh Primary School 4.24 Yes 146 7 20.9 Yes 9093373 Selside Endowed C E School Primary School 7.60 Yes 68 7 9.7 Yes 9093032 Shankhill C of E Primary School Primary School 3.75 Yes 98 7 14.0 Yes 9093703 Silloth Primary School 9.7 Yes 98 7 14.0 Yes 9092703 Silloth Primary School 9.10 No 159 7 25.7<									
9095201 Scotby Primary School 1.00 No 280 7 40.0 - 9092224 Seascale Primary School Primary School 2.39 No 128 7 18.3 Yes 9093116 Seaton CE Junior School Primary School 1.24 No 211 4 52.8 - 9092700 Sedbergh Primary School Primary School 4.24 Yes 146 7 20.9 Yes 9093373 Selside Endowed C E School Primary School 7.60 Yes 68 7 9.7 Yes 9093032 Shankhill C of E Primary School Primary School 4.04 Yes 23 7 3.3 Yes 9093032 Silloth Primary School Primary School 3.75 Yes 98 7 14.0 Yes 9092703 Silloth Primary School Primary School 5.10 No 159 7 22.7 - 9092703 Silloth Primary School Primary School 0.54 No 247 7 35.3 - <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>									
9092224 Seascale Primary School Primary School 2.39 No 128 7 18.3 Yes 9093116 Seaton CE Junior School Primary School 1.24 No 211 4 52.8 - 9092700 Sedbergh Primary School Primary School 4.24 Yes 146 7 20.9 Yes 9093373 Selside Endowed C E School Primary School 7.60 Yes 68 7 9.7 Yes 9093032 Shankhill C of E Primary School Primary School 4.04 Yes 23 7 3.3 Yes 9093374 Shap Endowed CE School Primary School 3.75 Yes 98 7 14.0 Yes 9092703 Silloth Primary School Primary School 5.10 No 159 7 22.7 - 9092627 Sir John Barrow School Primary School 0.54 No 247 7 35.3 - 9092058 Skelton School Primary School <									
9093116 Seaton CE Junior School Primary School 1.24 No 211 4 52.8 9092700 Sedbergh Primary School Primary School 4.24 Yes 146 7 20.9 Yes 9093373 Selside Endowed C E School Primary School 7.60 Yes 68 7 9.7 Yes 9093032 Shankhill C of E Primary School Primary School 4.04 Yes 23 7 3.3 Yes 9093374 Shap Endowed CE School Primary School 3.75 Yes 98 7 14.0 Yes 9092703 Silloth Primary School 5.10 No 159 7 22.7 - 9092627 Sir John Barrow School Primary School 0.54 No 247 7 35.3 - 9092058 Skelton School Primary School 0.54 No 247 7 35.3 -									
9092700 Sedbergh Primary School Primary School 4.24 Yes 146 7 20.9 Yes 9093373 Selside Endowed C E School Primary School 7.60 Yes 68 7 9.7 Yes 9093032 Shankhill C of E Primary School Primary School 4.04 Yes 23 7 3.3 Yes 9093374 Shap Endowed CE School Primary School 4.04 Yes 23 7 3.3 Yes 90932703 Silloth Primary School 3.75 Yes 98 7 14.0 Yes 9092703 Silloth Primary School 5.10 No 159 7 22.7 - 9092627 Sir John Barrow School Primary School 0.54 No 247 7 35.3 - 9092058 Skelton School Primary School 3.12 Yes 68 7 9.7 Yes									
9093373 Selside Endowed C E School Primary School 7.60 Yes 68 7 9.7 Yes 9093032 Shankhill C of E Primary School Primary School 4.04 Yes 23 7 3.3 Yes 9093374 Shap Endowed CE School Primary School 3.75 Yes 98 7 14.0 Yes 9092703 Silloth Primary School 9.10 No 159 7 22.7 - 9092627 Sir John Barrow School Primary School 0.54 No 247 7 35.3 - 9092058 Skelton School Primary School 0.54 No 247 7 35.3 -									
9093032 Shankhill C of E Primary School Primary School 4.04 Yes 23 7 3.3 Yes 90930374 Shap Endowed CE School Primary School 3.75 Yes 98 7 14.0 Yes 9092703 Silloth Primary School 9.70 5.10 No 159 7 22.7 9092627 Sir John Barrow School Primary School 0.54 No 247 7 35.3 9092058 Skelton School Primary School 3.12 Yes 68 7 9.7									
9092703 Silloth Primary School Primary School 5.10 No 159 7 22.7 9092627 Sir John Barrow School Primary School 0.54 No 247 7 35.3 9092058 Skelton School Primary School 3.12 Yes 68 7 9.7		Shankhill C of E Primary School		4.04				3.3	Yes
9092627 Sir John Barrow School Primary School 0.54 No 247 7 35.3 9092058 Skelton School Primary School 3.12 Yes 68 7 9.7 Yes									
9092058 Skelton School Primary School 3.12 Yes 68 7 9.7 Yes									
19092310 1300001 Walney Infant and Nulsery School [Primary School] U.35] NO[147] 31 49.01-									
9092515 South Walney Junior School Primary School 0.41 No 200 4 50.0									

LAESTAB	School Name	School Type	Sparsity Distance (based on October 2013 data)	Received sparsity in 2014- 15?	Total Number on Roll (October 2013) (Less resource provision places)	Number of year groups for all schools (October 2013 data)	Average pupils per year group (October 2013 data) (column F divided by column G)	Would be eligible based on average year group size (October 2013 data)
9093652	St Bede's RC School	Primary School	0.34		173	7	24.7	
9092225	St Bees Village School	Primary School	2.15		174	7	24.9	
9093508 9093520	St Bega's CE Primary School St Begh's Catholic Junior School	Primary School Primary School	4.74		32 299	4		Yes
9093209	St Bridget's CE School, Whitehaven	Primary School	0.44		81	4		Yes
9093506	St Bridget's RC School, Egremont	Primary School	0.44		171	7	24.4	
9093101	St Bridget's School, Brigham	Primary School	1.18		103	7	14.7	
9093315	St Catherine's School	Primary School	0.58		115	7		Yes
9093603	St Columba's Catholic Primary School	Primary School	0.26		203	7	29.0	
9093328	St Cuthberts R.C.V.A, Wigton	Primary School	0.90		94	7		Yes
9093453 9093653	St Cuthberts Catholic Primary School, Windermere St Cuthbert's Catholic Community School, Carlisle	Primary School Primary School	0.49		63 100	7		Yes Yes
9093055	St George's CE School	Primary School	0.32		100	7	27.4	
9093521	St Gregory and St Patrick's Catholic School	Primary School	0.23		220	3	73.3	
9093415	St Gregory's School	Primary School	0.39		230	7	32.9	
9093663	St Herbert's C of E Primary and Nursery School	Primary School	2.52		221	7	31.6	
9093514	St James' Catholic Primary, Millom	Primary School	0.48		199	7	28.4	-
9093210	St James' CE Infant School, Whitehaven	Primary School	0.57	No	134	3	44.7	-
9093601	St James CE Junior, Barrow	Primary School	0.58		163	4	40.8	-
9093211	St James' CE Junior School, Whitehaven St Josephs Catholic Primary School, Frizington	Primary School	0.50		188	4	47.0	- Yes
9093510 9093404	St Joseph's Catholic Primary School, Fri2ington	Primary School Primary School	0.45	No	63 62	7		Yes
9093654	St Margaret Mary Catholic Primary School	Primary School	0.37		199	7	28.4	
9092000	St Martin and St Mary Church of England Primary School	Primary School	0.48		353	7	50.4	
9093370	St. Mark's CofE Primary School	Primary School	1.22	No	158	7	22.6	
9093367	St. Mary's CE Primary, Kirkby Lonsdale	Primary School	2.87	No	180	7	25.7	-
9093519	St Mary's Catholic Primary, Whitehaven	Primary School	0.47	No	176	7	25.1	-
9093552	St Mary's Catholic Primary, Ulverston	Primary School	0.40		106	7		Yes
9093414	St Mary's Catholic Primary School, Workington	Primary School	0.53		142	/	20.3	
9093322 9093007	St Matthew's CE School St Michael's CE School, Dalston	Primary School Primary School	1.82		34 217	7	4.9	Yes
9093400	St Michael's CE School, Bothel	Primary School	1.80		37	7		Yes
9092143	St. Michael's School Workington	Primary School	0.28		55	3		Yes
9093355	St Oswald's C of E Primary School	Primary School	1.41	No	83	7	11.9	Yes
9092717	St Patrick's Catholic Primary School, Cleator Moor	Primary School	0.64	No	246	7	35.1	-
9093416	St Patrick's Catholic School, Workington	Primary School	0.41	No	202	7	28.9	
9093359	St Patrick's CE School, Endmoor	Primary School	1.69		58	7		Yes
9095204 9093606	St Paul's CE School St Pius X Catholic Primary Sch	Primary School Primary School	0.40		87 200	4	21.8 28.6	
9093365	St. Thomas' C of E Primary	Primary School	0.30	No	200	7	30.0	
9093319	Stainton C of E Primary School	Primary School	2.07	No	131	7		Yes
9092612	Stanwix Primary	Primary School	0.89		427	7	61.0	
9093057	Staveley C E Primary	Primary School	2.97	No	123	7	17.6	Yes
9092059	Stoneraise School	Primary School	1.59		108	7		Yes
9093058	Storth CE School	Primary School	1.30		38	7		Yes
9092317	Tebay Community Primary School	Primary School	2.62		54	/		Yes
9093059 9092721	Temple Sowerby C of E School The Bishop Harvey Goodwin School	Primary School Primary School	1.60		53 281	7		Yes
9092069	Thomlinson Junior School	Primary School	0.37					
9092226	Thornhill Primary School	Primary School	1.13		43			Yes
9093115	Threlkeld C of E Primary School	Primary School	3.39		67			Yes
9092060	Thursby School	Primary School	1.69	No	102	7	14.6	Yes
9092227	Thwaites School	Primary School	4.00		59			Yes
9093557	Ulverston CE Infants School	Primary School	0.47		74	4		Yes
9092711	Upperby Primary School	Primary School	0.48		298	7	42.6	
9093661 9093064	Valley Primary School Vicarage Park	Primary School Primary School	0.79		248 204	7	35.4 29.1	
9093064	Vickerstown School	Primary School Primary School	0.30		163	7	29.1	
9092514	Victoria Infant and Nursery School, Barrow	Primary School	0.50		202	3	67.3	
9092144	Victoria Infant and Nursery School, Workington	Primary School	0.38		159	3	53.0	
9092146	Victoria Junior School, Workington	Primary School	0.42		252	4	63.0	
9092507	Victoria Junior School, Barrow	Primary School	0.49		209	4		
9093516	Waberthwaite CE School	Primary School	3.35		54			Yes
9093656	Warcop CE School	Primary School	2.88	No	83	7	11.9	Yes

LAESTAB	School Name	School Type	Sparsity Distance (based on October 2013 data)	Received sparsity in 2014- 15?	Total Number on Roll (October 2013) (Less resource provision places)	Number of year groups for all schools (October 2013 data)	Average pupils per year group (October 2013 data) (column F divided by column G)	Would be eligible based on average year group size (October 2013 data)
9095202	Warwick Bridge	Primary School	1.57	No	117	7		Yes
9092720	Westfield Nursery and Primary School	Primary School	0.41	No	129	7		Yes
9093324	Wiggonby CE School	Primary School	2.43		39	7		Yes
9092070	Wigton Infant School	Primary School	0.83	No	155	3	51.7	
9093037	Wreay CE School	Primary School	2.03		107	7		Yes
9092316	Yanwath	Primary School	1.32	No	135	7		Yes
9092522	Yarlside Nursery and Primary School	Primary School	0.46		215	7	30.7	
9092619	Yewdale Primary School	Primary School	0.49	No	230	7	32.9	-
Primary Academi								
9093352	Arnside National CE School	Primary Academy	1.55		133	7		Yes
9095205	Broughton Primary School	Primary Academy	0.82		100	7		Yes
9093052	Burton Morewood School	Primary Academy	1.50		192	7	27.4	
9095220	Castle Carrock School	Primary Academy	3.60	Yes	95	7		Yes
9095223	Crosby on Eden	Primary Academy	2.05		92	7		Yes
9095211	Dearham School	Primary Academy	1.31	No	212	7	30.3	
9095209	Eaglesfield Paddle CE Primary Academy	Primary Academy	1.78		200	7	28.6	
9092318	Ghyllside School	Primary Academy	0.36		399	7	57.0	
9095216	Gilsland C. E. Primary	Primary Academy	2.80		34	7		Yes
9092026	Great Corby	Primary Academy	1.59		72	7		Yes
9093556	Penny Bridge C.E. School	Primary Academy	3.70		107	1		Yes
9092130	Seaton Academy	Primary Academy	1.25		190	3	0010	
9092319	Stramongate School	Primary Academy	0.52	No	394	1	56.3	-
Secondary School			5.07	N I	450		04.0	
9094001	Beacon Hill Community School	Secondary School	5.87		156	5		Yes
9094103	Cockermouth School	Secondary School	5.75		1068	5		
9094150	Dowdales School	Secondary School	2.33		1049	5	209.8	
9094151	John Ruskin School	Secondary School	6.83		157	5		Yes
9094204	Millom School	Secondary School	5.70		424	5		Yes
9094501	Nelson Thomlinson School	Secondary School	7.05		1080	5	216.0	
9094104 9094630	Netherhall School Specialist Sports College	Secondary School	4.72	Yes No	544 555	5	108.8 111.0	
9094630	Newman Catholic School Samuel King's School	Secondary School Secondary School	11.89		125	5		Yes
9094011	Solway Community Technology College	Secondary School	9.97	Yes	125	5		Yes
9094311	Southfield Technology College	Secondary School	1.56		272	5		Yes
9094634	St Bernards Catholic High School	Secondary School	1.30	No	962	5	192.4	
9094622	St. Benedict's Catholic High School	Secondary School	1.48		974	5	192.4	
9094810	St. Joseph's Business and Enterprise College	Secondary School	0.73		659	5	131.8	
9094312	Stainburn School & Science College	Secondary School	1.99		690	5	138.0	
9094056	The Lakes School	Secondary School	6.47		441	5		Yes
9094310	Ullswater Community College	Secondary School	10.50		1134	5	226.8	
9094152	Ulverston Victoria High	Secondary School	4.29		926	5	185.2	
Secondary Acade						-		
9095407	Appleby Grammar School	Secondary Academy	8.56	Yes	482	5	96.4	Yes
9095413	Caldew School	Secondary Academy	5.08		865	5	173.0	
9095410	Cartmel Priory CE School	Secondary Academy	5.86		327	5		Yes
9095405	Dallam School	Secondary Academy	5.08		749	5	149.8	
9096908	Furness Academy	Secondary Academy	1.19	No	1009	5	201.8	-
9095414	Keswick School	Secondary Academy	9.72	No	868	5	173.6	-
9095400	Kirkbie Kendal School	Secondary Academy	1.89	No	739	5	147.8	-
9095406	Kirkby Stephen Grammar School	Secondary Academy	8.93	Yes	309	5	61.8	Yes
9095401	Queen Elizabeth Grammar School Penrith	Secondary Academy	2.60	No	610	5	122.0) -
9095411	Queen Elizabeth School	Secondary Academy	8.20		1079	5	215.8	-
9096906	Richard Rose Central Academy	Secondary Academy	1.65		663	5	132.6	
9096905	Richard Rose Morton Academy	Secondary Academy	1.99		607	5	121.4	
9094060	Settlebeck High School	Secondary Academy	8.85		155	5		Yes
9095404	The Queen Katherine School	Secondary Academy	2.01		1125	5	225.0	
9095402	Trinity School	Secondary Academy	2.19		1188	5	237.6	
9094259	Walney School	Secondary Academy	1.96		689	5	137.8	
9096907	West Lakes Academy	Secondary Academy	5.30			5	169.2	
9094313	Whitehaven School	Secondary Academy	1.73		761	5	152.2	
9095412	William Howard School	Secondary Academy	8.30	No	1161	5	232.2	-